(2) BOD, COD, &%#,

e 2, =T ) —,

LAS (HE#EHT7T LI P o ZUR VIR O O OB AR
7 BRBEHMERE S
a BODG@JI) (AT : mg/L)
BB TID | BREEUESA Fa A & 3 £ & f 4 F£E
KIBA4 Pyl o A& ¥ 75941 | ¥ W A& =E 75%fiE
=IO EoCks A JLro] 12,12 = 100 .oJo9o| 12,712 = 100] 1.0
BRI R B J1o| 12712 = 100 1.1 Jo9] 12,712 = 100] 0.9
eI i T H K A Joe6]| 12,712 = 100 0.6 Jo.5[ 12712 = 100] 0.6
I AONIEER A Joe| 12,712 = 100 0.6 Jo.6] 12712 = 100] 0.6
BT Q) |'=hHilE A o8] 12,712 = 100 009 0.8 12,712 = 100] 0.9
AN ELES A Jo7] 12,12 = 100 0.8 J0.7] 12,712 = 100] 0.8
[FIIRAONEE SR A Jo7] 12,12 = 100 0.7 Jo.8| 12,712 = 100] 1.1
)11 Tt G A Joe| 12,712 = 100 0.7 ]0.8] 12712 = 100] 0.9
R (2) A A L1 12,712 = 100 .2 12| 12,712 = 100] 1.4
N A Jos] 12,712 = 10] 0908 12,712 = 100] 0.9
A (3) EKIG A Jo7] 12,12 = 100 0.8 o8| 12712 = 100] 0.9
A =4 A Jo7] 12712 = 100 0.6 J0.8] 12 712 = 100] 0.9
BB BV |25 AAJo0.5] 12 712 = 100/ <0.5]0.5] 12 712 = 100] 0.5
ERE A Joel 11711 = 100 0.7 ]0.6] 10710 = 100] 0.6
DVNELS A Joe| 12,712 = 100/ 0.5 Jo.5] 12,712 = 100] 0.6
RT3 S A Joe| 12,12 = 100 007 ]o0.7] 12,712 = 100] 0.7
I ENG A Joe| 12,712 = 100 0.6 Jo.6] 12,712 = 100] 0.6
YL A Jor7] 11,712 = 9 o06loe6| 12,712 = 100] 0.6
)1 NI A 0.5 9,9 = 100[<0.5]0.6] 10,710 = 100]<0.5
WG A 0.5 7,/ 7 = 100[ 0.6 | 0.7 7,/ 7 = 100] 0.9
)1 TEAITIE B |o.6 6,6 = 100 0.7 Jo.7] 11711 = 100] 0.6
NN By it mwsmsssa | A J o7 12,12 = 100l 0.9 Jo.9f 12,712 = 100] 1.1
NP [/ AiAE A Joe| 12,712 = 100 007 ]0.9] 11 712 = 92| 1.0
el — G B 1.7 8,9 = 89 2.0 1.5 9,9 = 100] 1.6
mEILEW | =S AAJo6]| 12,712 = 100l 0.6 Jo.6] 12 712 = 100] 0.6
BT A A ool 11712 = 92l 0.8]0.8] 12,712 = 100] 0.9
bRcoll EATE AAJoO5] 12,712 = 100]<0.5)o0.6 11 712 = 92[ 0.6
HEI WG A Jo7] 12,12 = 100 o5 Jo5] 12,712 = 100] 0.5
SHEI <F HiG A Joe| 12,712 = 100 0.6 Jo.6] 12,712 = 100] 0.6
EEI 1S A Jog|l 10,10 = 100 .oJo7| 11711 = 100] 1.1
Rl DIRGES A Jo7] 1111 = 100/ 08]1Lo0o] 11712 = 92| 1.0
A1 M BT A 1] 12,12 = 100 .2 13 11712 = 92| 1.4
KAd)1 VO S A Jool 12712 = 100l rLofri] 11t 712 = 92] 1.3
e XUE A Jos] 12 712 = 100[<0.5]0.6] 12 712 = 100] <0.5
WHEF )| NN A Joe] 12,712 = 10| 05]05] 11,711 = 100] <0.5
I B A Jtro]l 10,11 = o1 r.oJosg| 11711 = 100] 1.1
I EN A Joe]| 11,711 = 100 0.6 ]0.6 9,9 = 100] 0.7
NEEH NG A 0.9 8,8 = 100] 1.0 | 0.9 8,8 = 100] 1.1
) /NEAE A Jo7] 10,10 = 100 0.8 ]0.8 8/ 8 = 100 1.0
Rl +AhE A Joe]| 12,712 = 100 007 ]oe6| 12712 = 100] 0.7
Bl PR A Jo.5 9,9 = 100[<0.5]0.7] 12712 = 100]<0.5
= = 118 A Jos] 10,10 = 100 05 Jo.5] 11,711 = 100] 0.5
) HAERE A Jose] 1010 = 100 0.5 06 12,712 = 100] 0.6
0 )1] F—0) 145 A o7l 11 /712 = 92 05]06] 12,712 = 100] 0.6
KF) RO A Joe] 1010 = 100 0.5 Jo.6] 11 11 = 100] 0.6
& )1 eIk A o7 8 8 = 100/ 0.8 J0.7] 1010 = 100 0.7
=1 = A Joe| 11,711 = 100 0.6 Jo.6| 12712 = 100] <0.5
el )] e ot A Jo7l 979 = 100 0.6 Jo6] 11 711 = 100/ 0.8
GE) 1 F ¥y INZ 20Tl B R EE O RS E T,
Wz DWW TR, 2B o B MEIEOFERMEAE T,
BB UEE 2 e L7 B o B EREO T — 2 4%
2 m A = X 1 0 0

W2l Ul B FSESEORT — 2 35K

3 75%/KEfHE

MO BEESEOET — X e F OEO/NSWNE DN BIEICITERT, 0.75X n
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b COD ()

(BAL - mg/L)

BMHTIED | RS 4 ¥ S5 il 3 £ S i 4 4 i3
KIBA, i 25 WA F ToniE | T WA F T
SRRV (1) NI b A 2.6 1,/ 6 = 17] 3.0 1.7 5,/6 = 83| 2.0
o i e A 2.1 3,/ 6 = 50 2.4 1.6 5,/ 6 = 83| 1.9
SRRV (2) XX g &S A 2.3 3,/ 6 = 50| 2.8 1.5 6,/ 6 = 100] 1.7
T ERZE B Hh A A 2.2 2,/ 6 = 33| 2.5 1.7 4,/ 6 = 67] 2.1
(ORI FAWTR: A 2.0 4,/ 6 = 67] 2.1 1.4 6,/ 6 = 100] 1.7
BB o A 2.2 2,/ 6 33| 2.4 1.7 5,/ 6 = 83| 2.0
B R B 3.1 4,/ 12 = 33 3.3 ] 2.6 9 /10 = 90| 2.7
(7 A =T B 3.1 6 /12 = 500 3.3 | 2.7 10,/ 11 = 91| 2.9
TE R ot B 3.0 8 /12 = 67] 3.1 | 2.7 10,/ 11 = 91| 2.9
BE {25 A 2.2 2/ 4 = 500 2.4 | 1.8 3,/ 4 = 75| 2.0
ok W RS A 2.1 1,/ 3 = 330 224 | 1.5 4/ 4 = 100] 1.7
AR A 1.8 2,/ 3 = 67| 2.2 1.9 3,/ 4 = 75| 1.9
1L B PrER) 1 A 1.9 2,/ 3 = 67] 2.3 ] 2.0 1/ 2 = 50| 2.4
IR A 1.9 3,/ 4 = 751 2.0 | 2.6 2/ 3 = 67| 3.8
IELE 5 O A 2.7 0,/ 12 = ol 2.6 | 2.3 2,/ 12 = 17] 2.5
V5 B A 2.8 0,/ 12 = 0] 3.0 ] 2.6 2/ 12 = 17] 2.8

c AEZKLOEH (i)

(42223R) (A7 + mg/L)
A GHCLD |  BREEENAL EE] 55 Fn 3 2 FE 5 F 4 E 3
KA, A Yy WA = Yy W oA =

AL 0.19 5, 6 = 83 0.19 5,/ 6 = 83
BEERYE (7)) |[MER L Il 0.11 6,/ 6 = 100 0.15 6, 6 = 100
%) 0.15 | 11 /12 = 92 0.17 | 11 /12 = 92
XX g B2 0.13 6,/ 6 = 100 0.12 6, 6 = 100
BRRE (1) | AEURZEE MG Il 0.12 6,/ 6 = 100 0.11 6, 6 = 100
S 0.13 [ 12 /712 =100 0.12 | 12/ 12 = 100
T Hi 5 0. 09 6,/ 6 = 100 0.08 6, 6 = 100
ok (B I 0.17 6,/ 6 = 100 0.13 6, 6 = 100
S 0.13 | 12 /712 =100 0.11 | 12/ 12 = 100
37 F) 1 RS 0.29 4,/ 6 = 67 0.36 2,/'5 = 40
Fl #F v [HRES II 0. 22 6,/ 6 = 100 0.21 5,/ 6 = 83
TE 7 G 0. 20 5, 6 = 383 0. 22 5,/ 6 = 83
S 0.24 | 15 /18 = 383 0.26 | 12/ 171 = 71
O 0.18 6,/ 6 = 100 0.17 6, 6 = 100
NEE R V5 B Il 0.21 5, 6 = 383 0.17 6, 6 = 100
S 0.20 | 11 /12 = 92 0.17 | 12 /12 = 100

(=H) (BT : mg/L)
RS TiTo BEALYE N4 ¥A SEl Fn 3 EOE SEl i 4 4 =3
KI4 A Y RS S W A =E

AL B 0.019| 6,6 = 100 0.018] 6, 6 = 100
BEEYE (7)) [ I |oois] 66 = 100 0.015] 6,6 = 100
S 0.017 | 12 /12 = 100 0.017 | 12 /12 = 100
XX g S 0.015| 6, 6 = 100 0.013| 6. 6 = 100
PEEEE (1) [EEbEs I ]0.014 6,/ 6 = 100 0.012 6, 6 = 100
S 0.015 | 12 / 12 100 0.013 | 12 / 12 100
N s 0.011 6/ 6 = 100 0.010] 6. 6 = 100
o o B o Joo1t7| 6.6 = 100 0.013| 6. 6 = 100
S 0.014| 12 /12 = 100 0.012] 12 /12 = 100
B 1 AL 0.033| 4,6 = 67 0. 032 3,/5 = 60
Fl o #% v [RER o | o0.026 4,/ 6 = 67 0.023 5,/ 6 = 83
T o 0.025| 5., 6 = 83 0. 027 5,/ 6 = 83
S 0.028| 13 /18 = 72 0.027 | 13 /17 = 76
75 15 0.019| 5,6 = 83 0.016| 6, 6 = 100
Y E 5 B II 0. 026 5, 6 = 83 0.021 6., 6 = 100
S 0.023] 10 /12 = 383 0.019] 12 712 = 100




d 2., /= 7=x /) — LKL AS (KAEEYOREITIR D B EE UL Gl
(4 ﬁ"if’\) (BAT : mg/L)
BRLTED | mEkas | B8 | & 3 fFJE % T &
Kk ¥ WA =E S WA E
e [EoR 0. 003 2,/ 2 100] 0.003 2,/ 92 = 100
el EEEER B o T 474 = 100] 0004 | 474 = 100
R By (1) \TFAAE Al 0.004 4,4 = 100 0.002 4,4 = 100
)W) [EH S B | 0.002 2,2 = 100] 0.003 2,/ 2 = 100
AR AmB | 0.002 2,2 = 100] 0.002 2,/ 92 = 100
BT (2) E.H‘ﬁ & B | 0.010 4,4 = 100] 0.012 4,/ 4 = 100
SRR 0. 004 4 /4 = 100] 0.003 2,/ 2 = 100
5 = MoK 0. 003 2,2 = 100] 0.003 2,/ 2 = 100
AHT £ K DB 1005 2,2 = 100] 0.006 2 /2 = 100
A2 0. 004 4,/ 4 = 100] 0.004 4,/ 4 = 100
YIS eSS Al 0.001 4 /4 = 100] 0.001 4,/ 4 = 100
LFE 0.001 3,3 = 100 o.001 2,/ 2 = 100
VUK A 0. 002 2,/ 2 = 100] 0.001 2,/ 2 = 100
BEINTW [ B | 0.003 2,2 = 100] 0.003 2,92 = 100
LG 0. 002 4,4 = 100] 0.001 4,/ 4 = 100
i EIE 0. 004 2 /2 = 100] 0.008 2 /2 = 100
(/=7 = /)—)L) (HA7 : mg/L)
AL CIID | BEIREHUE N4 L Epil 4 Ffn 3 & JE 5 4
FKIB A ¥ WA S WA E
1| oA AR <0.00006] 2,2 = 100]<0.00006] 2,2 = 100
TR =4 <0.00006] 4 4 = 100[<0.00006] 4.4 = 100
B (D) PATE A A 1<0.00006] 4,4 = 100[<0.00006] 4,4 = 100
) ERE () [EH S B [<0.00006] 2.2 = 100]<0.00006] 2,2 = 100
T (D) [FERE A B [<0.00006] 2,2 = 100[<0.00006] 2,2 = 100
B T (2) gﬁﬁ‘% B [<0.00006] 4,4 = 100]<0.00006] 4,4 = 100
R <0.00006| 4 4 1001 <0.00006] 2 2 = 100
y = MO KAE <0.00006| 2.2 = 100]<0.00006] 2,2 = 100
AHIT EV R £0B <0.00006] 2. 2 = 100]<0.00006] 2./ 2 = 100
ESeIEER S <0.00006] 4 74 = 100]<0.00006] 44 = 100
YIS eSS EmA ]<0.00006] 4 74 = 100]<0.00006] 474 = 100
ERS <0.00006] 3 73 = 100]<0.00006] 2 _ 72 = 100
PUNELS <0.00006| 2,2 = 100]<0.00006| 2 2 = 100
BEINTW  |[E s AB [<0.00006] 2,2 = 100]<0.00006] 2.2 = 100
G <0.00006| 4, 4 1001 <0.00006] 4 /4 = 100
B <0.00006] 2 2 100 <0.00006] 2 72 = 100
(LAS) (HfT : mg/L)
G TITD | mesius s EEpil 4 3 4 Sl 4 FE
7Kigk4 N a] N - S WA =
ve)l| Eocis B <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
FIR) == <0. 0006 4,4 = 100] <0.0006 4,/ 4 = 100
RN Bk (1) |\ TS A | <0.0006 4 /4 = 100] <0.0006 4,4 = 100
B EFE(2) |VEH S A8 B | <0.0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
RO IEERE £ B | <0.0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
BT (2) |=hits B | 0.0006 4/ 4 100] 0.0006 4,/ 4 = 100
TG 0.0018 4,/ 4 = 100] 0.0019 2,/ 2 = 100
N e |BEKREE <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
AHIF EV N EMB <0.0006 | 2.2 = 100/ <0.0006] 272 = 100
) |4 =24 0. 0008 4/ 4 100] 0.0008 4,/ 4 = 100
BRI B [Z25E A | <0.0006 3,3 = 100] <0.0006 4,4 = 100
MEZS <0. 0006 3,3 = 100] <0.0006 2,/ 2 = 100
VUK H A <0. 0006 2,/ 2 = 100] <0.0006 2,/ 2 = 100
HBEITFR |[FERE A9 B | <0.0006 2 /2 = 100] <0.0006 2,/ 2 = 100
W ER <0. 0006 4,/ 4 = 100] <0.0006 4,4 = 100
RIS <0. 0006 4 /4 100] <0.0006 4,/ 4 = 100




